
844-314-1374  |  EDGEfallprotection.com  |  Info@edgefallprotection.com

PARAPET FOR WALL CLAMP

EDGE Parapet Wall Clamps allow 
perimeter fall protection railings 
to be mounted to a parapet wall 
without the need to mechanically 
penetrate the wall structure. This 
clamp-on railing system offers 
OSHA compliant fall protection 
without taking up any space 
on the roof. Railing height is 
adjustable according to parapet 
wall height to maintain the OSHA 
mandated 42" railing height 
above the walking surface.

USES
The SRC Parapet Wall Clamp 
system is perfect for guarding 
parapet walls that are below 42." 
Roofs that have irregular or sloping profiles, tight access and 
hard to reach areas, are all applications ideally suited for 
the parapet wall clamps. Whether installed permanently or 
temporarily, this is a great, low cost way to provide OSHA 
compliant fall protection.

OSHA COMPLIANCE
Compliant with OSHA standards for guardrails: (29 CFR 
1910.29 & 29 CFR 1926.502) and CalOSHA Title B, 
Chapter 4, Article 19, 3212;3209. Independently tested 
by a nationally accredited engineering lab. Documentation 
available upon request.

MINIMUM REQUIREMENTS
•	 Parapet wall must be structurally sound and capable of 

supporting railings and clamps plus a 200 pound point 
load prescribed by OSHA.

•	 Parapet wall must be at least 6" tall and less than  
24" wide.

EDGE Fall Protection, LLC 844-314-1374 www.EDGEfallprotection.com

•	 Available in three size 
ranges to fit three wall 
widths: 1"-6," 6"-12," 
and 12"-24"

•	 No welding or 
drilling required for 
attachment

•	 Will no harm metal 
drip edge or roofing 
membrane

•	 100% made in USA

•	 Cannot be removed 
without the use of 
tools

•	 American Welding 
Society Certified 
(AWD D1.1 & D1.3)

•	 Railings available 
in powder coat or 
galvanized finishes

•	 Custom RAL colors 
available

FEATURES

WE INSTALL TOO! 
Let us do it for you. Call to get a quote for our 
professional installation services.

https://edgefallprotection.com/
mailto:Info%40edgefallprotection.com?subject=


844-314-1374  |  EDGEfallprotection.com  |  Info@edgefallprotection.com

PARAPET WALL CLAMP PRODUCT SPECIFICATIONS

1/16" NEOPRENE HERE TYP

RAIL SET SCREWS

SCREW REQUIRES1.25" SOCKET OR WRENCH

1

5

3

2

 4.00 

 1.76 

WT: 17LBS

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 400473 PC 12 WELD 1 1
2 400474 PC 12 WELD 2 1
3 400475 PC 12 WELD 3 1
4 100025 SAE FLAT WASHER 3/4" 1
5 100066 SHCS 3/8-16 X .5" Z 2

PARAPET CLAMP 12

A400471
SHEET 1 OF 1SCALE: 1:8 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

5 4 3 2 1

Safety Rail Company LLC.
4244 Shoreline Dr.
P.O. Box 427
Spring Park, MN 55384

Toll Free: 888-434-2720
Tel: 952-471-0950
Fax: 888-471-4931
www.safetyrailcompany.com
info@safetyrailcompany.com

Edge Fall Protection, LLC
www.EDGEfallprotection.com
TF/F: 844-314-1374
Info@edgefallprotection.com

1/16" NEOPRENE HERE TYP

RAIL SET SCREWS

SCREW REQUIRES1.25" SOCKET OR WRENCH

1

5

3

2

 4.00 

 1.76 

WT: 17LBS

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 400473 PC 12 WELD 1 1
2 400474 PC 12 WELD 2 1
3 400475 PC 12 WELD 3 1
4 100025 SAE FLAT WASHER 3/4" 1
5 100066 SHCS 3/8-16 X .5" Z 2

PARAPET CLAMP 12

A400471
SHEET 1 OF 1SCALE: 1:8 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

5 4 3 2 1

Safety Rail Company LLC.
4244 Shoreline Dr.
P.O. Box 427
Spring Park, MN 55384

Toll Free: 888-434-2720
Tel: 952-471-0950
Fax: 888-471-4931
www.safetyrailcompany.com
info@safetyrailcompany.com

Edge Fall Protection, LLC
www.EDGEfallprotection.com
TF/F: 844-314-1374
Info@edgefallprotection.com

 5.25 

 1.50 
1-5": 400178
6-12":400471
12-24":400468

 8.00 
 .50 

 4.00 

 1.76 

DOM 1.75 X 1/4

DOM 2 X 12GA
EWT 2 X 11GA

3/8-16 WELD NUT

3/8-16 X 1/2 SHCS

3/4-4 ACME NUT

3/4-4 ACME ROD

3/4" FLAT WASHER GR5Z
10GA SHT

EWRECT 2 X 1 X 11GA

EWRECT 2 X 1 X 11GA

EWRECT 1.5 X 3/4 X 14GA

CLEAR ZINC FINISH TYP

1/16" NEOPRENE PAD TYP

TUBE PLUG TYP

HRSQ BAR 1/2"

RECEIVER ACCEPTS
SRC PIT RAIL & 
ACCU-FIT RAIL
FIELD TRIM MAY 
BE NECESSARY

Approval Signature 
By signing this document, I approve the attached drawings and acknowledgement I have 
reviewed and approved them in both paper and electronic form.  I acknowledge I have the 
authority to approve such drawing on behalf of                                    and agree they reflect the 
correct and complete details of PO#                   and authorize Safety Rail Company to proceed 
to production/fabrication on this project.
Name:                                                              
Title:                                                                
Company:                                                        
SIGNATURE:                                                 
DATE:    /      /        

NOTE: 
TORQUE TO 400IN-LBS USING DIAL INDICATING-TYPE
WRENCH & 1-1/4 SOCKET
TIGHTEN SET SCREW AFTER INSTALLATION
INSPECTION (ANNUAL): CHECK TORQUE ON MAIN SCREW
CHECK WELDS & SURFACE CONDITION FOR
 EXCESSIVE WEAR OR CORROSION

PARAPET CLAMP SPEC SHEET

SHEET 1 OF 1SCALE: 1:8 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

5 4 3 2 1

Safety Rail Company LLC.
4244 Shoreline Dr.
P.O. Box 427
Spring Park, MN 55384

Toll Free: 888-434-2720
Tel: 952-471-0950
Fax: 888-471-4931
www.safetyrailcompany.com
info@safetyrailcompany.com

Friday, January 26, 2018 12:33:31 PM

Edge Fall Protection, LLC
www.EDGEfallprotection.com
TF/F: 844-314-1374
Info@edgefallprotection.com

SIDE VIEW
CLAMP

1"-6" OPENING SAFETY YELLOW

GALVANIZED

SAFETY YELLOW + 
GALVANIZED

CUSTOM COLORS

6"-12" OPENING

12"-24" OPENING

TOP VIEW
CLAMP

SIDE VIEW
TYPICAL WALL MOUNTED RAILING

Dimensions Size options Finish options

•	 Designed in 
accordance with 
OSHA standards (29 
CFR 1910.29 & 29 
CFR 1926.502)

•	 Tested for 200 pound 
(90.7kg) force in any 
direction

•	 Rubber pads protect 
membranes

•	 Clamp offset will not 
crush metal flashing

•	 Railings can be precut 
to size at factory

•	 Only requires 6" wall 
height

•	 Zinc-plated finish on 
clamps

•	 Variety of finish 
options available

PRODUCT SPECIFICATIONSINSTALLATION
•	 Attach first clamp where needed

•	 Place second clamp in approximate position and 
snug against wall

•	 Insert railing into clamps and secure with locking set 
screw, and tighten both clamps securely

•	 Repeat until completed, estimated time to 
completion: variable lengths of runs

Project:

Contractor:

Date:

https://edgefallprotection.com/
mailto:Info%40edgefallprotection.com?subject=

